Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering Semester -V Examination Dec’11- Jan’12

Subject code: 350203/2350203 Date: 26/12/2011
Subject Name: Diagnosis & Testing —I (Auto engines)

Time: 10.30 am — 01.00 pm Total Marks: 70
Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered Authentic.

Q.1 (@) Describe following with reference to 1.C.engine.
(1) Specific Fuel Consumption (2) volumetric Efficiency 3)
Frictional power
(b)  Explain the procedure for wear measurement of cylinder bore. List any
five precision measuring instruments used in automobile workshop.

Q.2
(@) Define tune up. Describe typical tune up procedure.
(b)  Explain the procedure for valve refacing and valve seat cutting.
OR
(b)  Explain the causes and remedies for premature failure of main bearing.
Q.3
(@) Describe the compression and vaccum test of engine.
(b)  Give reasons for rapid wear of piston rings. Explain the procedure for
piston ring removal and fitting.
OR
Q.3 (@) List various defects arise in connecting rod. How are they checked and
corrected?.
(b)  Describe the method of checking crankshaft for alignment and
balancing.
Q.4
(@) Give at least seven causes for engine overheating .
(b)  Give the causes and remedies for excessive engine oil consumption.
OR
Q.4 (a) Explain calibration and phasing of inline fuel injection pump on test
bench.
(b)  Explain the effect on engine running, if
(1) Governor is not working properly (2) Delivery valve is leaking
Q.5

(a) Differentiate between petrol fuel injection and diesel fuel injection.
(b) State ill effects of clogged fuel filter on engine performance. Explain the
procedure of replacing fuel filter.
OR
Q.5 (@)  Write short note on ”shop manual and specifications”.
(b)  Explain the procedure of testing engine with Morse test. Calculate F.H.P
and L.H.P of an engine which gives following results in Morse test
(1 ) B.H.P with all cylinder working-105.0
(2) B.H.P with No.1 cylinder shorted-85.0
(3) B.H.P with No.2 cylinder shorted-76.0
(4) B.H.P with No.3 cylinder shorted-72.5
(5) B.H.P with No.4 cylinder shorted-81.5
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